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You have been given this question booklet and a separate answer sheet. The question booklet contains 50 questions.
Do any necessary rough work in this booklet.
When you have chosen your answer, mark itonthe ANSWER SHEET, not in this question booklet.
HOW TO USE THE ANSWER SHEET
Use an ordinary pencil only.
Make sure that you have written on the answer sheet:
YOURINDEX NUMBER
YOURNAME
NAME OFYOUR SCHOOL
By drawing a dark line inside the correct numbered boxes mark your full Index Number (i.e. School Code Number
and the three-figure Candidate's Number) in the grid near the top of the answer sheet.
Do not make any marks outside the boxes.
Keep the sheet as clean as possible and do not fold it.
For each of the questions 1-50 four answers are given. The answers are lettered A, B, C and D. In each case only ONE of the
four answers is correct. Choose the correct answer.
On the answer sheet, show the correct answer by drawing a dark line inside the box in which the letter you have chosen is
written.
Example
In the Question Booklet.
S: Which one of the following components of blood is involved in clotting after an injury?
A. Whiteblood cells.
B. Redblood cells.
C. Plasma.
D. Platelets.
The correctanswer is D.
On the answer sheet:
tA1 (B1 cC1 oo tA1 tB1cC1 D1 tA1 tB1cC1 D1 tAr tB1:C1 D1 Y tA1 tB1cCa tDs
In the set of boxes numbered 5, the box with the letter D printed in it is marked.
Yourdark line MUST be within the box.
For each question ONLY ONE box is to be marked in each set of four boxes.

This question paper consists of 8 printed pages.
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Whicn oiie oit
enables us to see ijects clearly?
A. Convection

Lo B VPO, gy

D, LASPETsion

C. Refraction

D. Reflection.

Which of the following objects will not
form a shadow?

L e Y
Havh o h-. ‘*"f".‘i
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Clear polythene paper.
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The following are safety measures when

1k Alank
QCduus Vi clectriciny,

(i) Avoid touching naked sockels with wet
hands.

(i) Fii copper wire arrestors on tall

buildings.

(iii) Avoid sheltering under trees when it is
rairing.

(iv) Don't overload the sockels.

Which pair prevents a person from being
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AL (1) and (ii)

B.(ii) and (iv)

C. (i and {iii)

D. (iii) and (iv).

The main source of encrgy inthe

vu‘v’h onment is

A. soil

n

The correct energy transformation i aburning
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charcoal Jlko is
huht
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Chemical —— Kinetic —— heat.
§ioeiae

" Mechanical —— igai— Hgh
Electrical ——s chemical — heat.
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cC SOUrReE 0 af energy,

1he f()iiu’w;ué fcs
() Solar (ivj Kerosene
(ii) Coal ) Water
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Which pair consists of renewable sources
of energy?

A.(iYand (i)

B. (ii) and (iii)

C. gl!i} dHu \v;

D. (iv)and (v)

The d.&gffﬁ"? helow shows a setup
used to anﬁS“gﬂte acertain prOany of
light.
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Which aspect of light was being investigated?
A. How light travels.

3 Daflant
B. Reflection of light

C. Refraction of light.
D. Making a rainbow.

The diagram below shows an improvised
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A. increase surface area of heating
B. prevent amount of heat loss by conduction

. nefac . ati
. peduce surisce area of heatin

)

D. reduce amount of charcoal to be used.
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Which one of the following methods can

»

control boih nm\"‘.’.’i‘-’.":‘;a and mies?
A. Spraying

B. Dipping

C. Dewormins

L. eworming

D. Rotational grazing.

Which one of the following practices can
reduce the pollution of air and water?
A. Controlied use of farm chemicals,

B. Bug’umo solid wastes.
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C. Treatment of sewage.
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Which one of the following groups of animal

Lo Al £n
fecds consists of uuu_y uuuuu-e, feeds uu:}"

A. Dairy meal, maize stalk, napier grass.
B. Lucerne, desmodium, cloves. '

C. Sweet poiaio vines, sorghum, s

D. Chick mash, lucerne, cloves.

Which one of the following levers has the

effort in between the load and the fulcrum

when in use‘?

A YLF o rE g
A, vvll\»unuuu o

R. Claw hammer
C. Crowbar
D. Spad(;.

Three of the following statements are true

£Fin o e wn
avout the flag post exeep

A. the effort moves the same distance as
the load

&
i

re equal
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B.ihe effort 7+ and the lnad &
C. the force applied is twice the load
D. the wheel reduces friction.

Which one of the following machines works

the same way as the road winding uphill?

f'\ bld“ uu;u..,er
R. Flag post

C. Ladder

15. Which of the following food chains is
COTTeds’?

A.Grass — antelope ___, zebra.

B. Sunflower ——p moth —, rats,

\., umn e gmabnupper —p COW.

D. Maize —, rats ___, snakes.

16. Which of the following pairs consists of
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A. Oranges and butter.
B. Eggs and mutton.

Y
b o

D. Pineapple and lemons.

L) o oy tia r
e lu!lbuvu of fibre inthe diet isto npxn in

L)

A. food digestion
B. food absorption

C. preventing diariioéa
D fundigested materials.

18. Which one of the foliowing siaicineiis is
srue ahout blood circulation in human beings?

A. Pulmonary artery carries oxygenated

blood.
B Dulmonary vein cariics deoxyeenated
blood.
C. Venacava is the smallest vessel in the
buu'y.
D. Aorta carries blood to all parts of the
body.

T hg-n hiiman tecth thg aped hke Smal

chisels with sharp edges are used for

A, cutting
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20. Alitook ugali and meat for lunch. Digestion
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A.mouth
B. stomach
. dundenum

D. ileum.

Which one of the e following lisis consists o
small animals that have similar
cnar‘actenstlcs'!

. B Am, buﬂerﬂy, ﬂea

23

C. Beeiie, iice, mosquito.
D. Scorpion, wasns, termite

ermies,

[ 1 P a
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animals,
(i) Have scales.,

Fary ¥
£IEd £ o9 Levere
VU R ane.

iC Characierisiics of big

(iii) Body is covered with hair

{(iv) Have constant body temperature.

(v} Partially lives in warer and on land
Which pair of characteristics belong to bat?
A. (ii)and (iv)

B. () and Gid)

C. (iii) and (iv)

D, (:v} aiid gv}

The diagram below shows parts of a female
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In which part does fertilization take place?
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24. When breathing in, iiie
diaphrag

B. lung cavity decreases
C. rib cage moves upward

ﬂ!!“llf’j}‘('
D. ribcage moves dow

25, The diagram below shows a beak of a

certain bird.
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atter sunset or beere sunrise is also the
A. brightest planet in the solar system

B. planet with ifaiy moons

C. planet with reddish coloys

D. planet with a beautiful ring.

27,

The fbl!cjw:nn are chara -

53 apm

(i) Have scent smell.

(i} Froduce q jot of pollen grains.
{”y} Hf}(!!] hort s

i

f!(f’!‘i‘v tiig;z»:_ﬁ
(iv) Have small dul] petals.

Which pair Ot characteristics are for a win

;
s Ly}
ollinated flower?
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Which o fthe f;
Grie of the mllowing plants is non

green non-flosw, "mﬁ
A Livmon
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C. Moss

D. Lichen.

The chart below

S \jwv’,

classification ofcrops.

Crops
|
y 1 ) I
Food g:rops Cash crops
l i
I I 1 I
| i
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31.

) |
Sunflower Beans Cassava Sisal Cotton Tea

Which crops were wrongly classified?
A Coiton and sisal.
B. Beans and cassava.

(. Tea and sisal.

oy
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il

4 *i 2 o
Sunflower and tea

Plants with flexible stems and broad leaves

gy b

oo 2L ofa P
QT BIACey o Vs
A thick waxy cuticle
B. succulent stem

P . i 2o
C. dee cp and widely spread roois

N thick waxy ;undc

low: m:' maier ials are

Which one oi dic ol
rrectly matched as magnetic

maiched
and non-magnetic?
Magnetic MNon magnefic !

"4 Aluminum foil Copper coin

B. Steel wool Tin

e

C. Copper Tini

m Coahall Silver coin.
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32. Which one of the following statements is

Py |

truze phout the ciatas of matier?
A. Liquids have definite volume and shape.
B. Gases have definite volume.
C. Liguids have no definite mass.
D. Gases have definite mass
33. The first step when separating a mixture of
salt, steel wool and sand is
A. use of magnet
B. filtration
C. dissolving
D. decanting.

34, Whichone ofthe tbliowing materials ar¢
correciiy ciassificd inlo s sinkers and
floaters?

Sinkers Floaters
A. Wood, wak Nail, feaiher.
B. Pin, plastic plate | Candle wax stone
C. Nail, piece ofglass Plastic bag. wood.
D. Aluminium dish, | Bottle top, razor
charcoal blade.

35. The foiiowing are cifects of drug abuse

{ii Rape.

(ii) Lack of concentration.

(iii) Truancy.

(rv) Marii ai ¢ un/uu 3.

l \”} Wi ;u?(ii‘iin’ﬁ'i’ S¥ mptoms.

Which effects are social?
A.(i)and(iv) '
B. (ii) and (1if)

ol T iy}
\(‘igm‘) lnﬂt\;

D. (ii) and (v).
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Pupils put a sample of garden soil in a glass
and then dipped the glass in a basin of
water. What component of soil were they
trying to investigate? Presence of

A. organic matter

B. air

C. water

D. mineral salts.

wne of the following water horne

diseases can be prevented by draining

stagnant water and wearing protective

B. Malaria
C. Cholera

™ 1t
L. 1ypiivid.

In which one of the following activities is
water used for recreational purposes?

A AAaletonm Eaiomtmdoa
s ¥ l?l&ll\l]!é VUL,

C. Boatracing.

D. Transporting logs of wood.
The following are signs and symptoms of a
certain nutritional deficiency disease.

(i) Lack of breath.

n
t::} ¥ {g ﬂuma nmn’ fissermse w2 s F e
i el RaWALE LT ey PN

(iit) General body weakness.
(iv) Increased heart beat.
The disease is likely to be
A.maragmus

B. rickets

C. anaemia

D. kwashiorkor.

40. Which one of the following statements is

2N
.

42.

43

. . LI . ITaO0
true aboui HiV and AIDSY

A. HIV can be spread by mosquito bites.
B. A person in window stage has no AIDS.

as st st o etaoe may iest
mpiea SRS Nhedd J

e

C. A person in sy
negative.
D. ARVS can cure HIV and A1DS.

The soil that has less organic matter with
fine mineral particles is also likely w have

o e om e b trnes awr et
ey

three or'ine IUIIUWHIB properacs

A. large soil particles
B. h:g,h capillarity

C. poor dramage

The diagram below shows a section of iand

ihai has heen eraded.

F

This type of erosion is likely 1o be

A shass
P PR R

B. splash
C. gulley

™ tis
L. VKL,

The following are uses of air.
(1,} Germination aj seeds.

(’ m) Preserving mﬁ drmks'
(iv) Used in making plant nutrients.

117! \unnnpu hngurmﬂ
B TR e Y il g

1
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Which two uses are for the componen
makes 21% of air?

A TN ad s
£1.1) diiG \n}

B. (i) and (iif)
C. (iv) and (v)

L Lvlfmd{il




44 The diagram below shows a set up that was

used 10 investigate a certain property of
Water.

Fiece

of paper I ] 'LJ\ !
E \. Beaker
L!nm:r

The aspect being investigated was

A water occupies space
B. water expands on heating
C. air occupies space

D, air expand on heating,
Which one of the 1oliowing 1s not irie
A is moutainous with irregular shape

B spreads in fiat jayers

. iscotton like and white in

-

D 1s a sign of fine weather.

correct about the weather chant?

A It rained only in the afternoon

B. Whenever 1t was windsy . it was also
sunny

C. Monday evening was the best day for
washing cloines

D Maonday was the best day for dnving

grains

47.

48.

The following are maintenance practices of
simple tools.

(1) Clean afier use.

(ii) Store properly or safely aticr use

(iii) sharpen cutting toals

H seons

cii B lwa tonfs FOF CG
tiv) Use tools Jar coire

(v) Qiling and greasing.
Which pair of the above prac.uccs will

& 1 1 i
preveiil a person irem g efiing

g ’h r(ii{)'iﬁ,

llJfl"\ ?
A (yand ()
B. () and (v).

C. (ittj and {(iv).

e
ond

D. (iv) and (ii).

The force that opposes mioiio can be
measured in

A. newtons

B. joules

. meters

D. kilogrammes.

TOF PURTITIY 5N P
HISAR AT EH S

fich one of the following s
when spray ing with chemicals”
A. Spraying against wind direction
B. Spraying when temperaiures are high.
C. Washing hands before spraying.
D. Wearing mask when spraying.

A farmer practising zero grazing is likely to

feed animals on

A s e s = i
A. commercial feeds ony

C. pasture and conserved feeds

0. fodder and silage only.
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